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questions below the table.

Account

Common stock, $10 par value
Paid-in capital in excess of par—common
Preferred stock, $50 par value
Paid-in capital in excess of par—preferred

Retained earnings

3 ~ The following table lists the stockholders' equity accounts appearing on the
balance sheet of a corporation on December 31, 2008. Answer the

LY WY RS
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Amount
$300,000
270,000
125,000
30,000
225,000
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How many shares of common stock have been issued?
What was the average issuance price of the common stock?
How many shares of preferred stock have been issued?
What was the average issuance price of the preferred stock?
What is total paid-in capital? (15%)

® o o T p

4 ~ Prepare the necessary journal entries to record the following transactions

relating to the long-term issuance of bonds by Titus Co.:

January 1 : Issued $600,000 face value, 8%, 5-year bonds for $650,000, a 6%
yield. Interest is payable semiannually on January 1 and July 1.

July 1 : Paid semiannual interest on the bonds. Use straight-line method to
amortize discount or premium.

December 31 : Accrued semiannual interest on the bonds.(12%)
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